107!

1072

107

ulPt
Std Dev 1.515
Constant 0.06452
Mean 0.03911
‘Lsigma 1.19
pullPt
Std Dev 1.515
Constant 0.06452
Mean 0.03917

0.95,

-10-8 6 -4 -2 0 2 4 6 8 10

=== DOQM_VUUUI_ROUU0U00UUI__Global
o= DOM V0001 R0O00000001 Global

[ pull of goverp parameter |

ufoover,
Std Dev 1.534
Constant 0.06339
Mean —0.008816
Sigma 1.205
pullooverp

Std Dev 1.534
Constant 0.06339
Mean -0.008771

1.205

0.95,

-10-8 6 -4-2 0 2 4 6 8 10

—CMSSW_X_Y_Z__allNODNN
CMSSW X Y Z all

[ pull of @parameter |

107}

1072

1073

Ratio

pultPhT
Std Dev 1.265
Constant 0.07517
: . | Mean -0.001923
Sigma 1.023
pullPhi
Std Dev 1.265
Constant 0.07517
Mean -0.001926
Sigma 1.023

=

[ pull of dxy parameter

P08 6 4 2 0 2 4 6 8 10

ulDx
Std Dev 1.25
Constant 0.07845
Mean —0.003091
Sigma 0.9771

pullDxy
Std Dev 1.25

Constant 0.07845
Mean -0.003084

[ pull of 6 parameter |

107}

_pulThem ]|
Std Dev 1.135
Constant 0.08213
Mean —0.005778
Sigma 0.9371

pullTheta
Std Dev 1.135
Constant 0.08213
Mean —0.005778

107}

pullDz
Std Dev 1.258
Constant
Mean —0.0004844
Sigma 0.9458

HE
pullDz
Std Dev 1.258

Constant 0.08026
Mean -0.0004835
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